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_ Multipie Choice Questions: -
__can be calculated from a frequency distribution with open end

{a)Mode (b)Median * (c)both (a) &(b)  {d) Nona
Median =__ ____Quartile.
(a) First (b) Second (c)Third (diNone

The empirical relationship helween mean, median and mode Tor a
moderately asymmetricat distributionis ___ .

(2) Md=2Mo-3M (b} Mo=3Md-M (@ M=Md-Mo  (d)None

Srandard devialienis always __thanzero. .
(a) fL.ess (b Greater ic) Egual (d'”')Non‘{_:
{1 =10; Q3 = 40, ihe coefficient of quartile deviationis_____ =
{a) 0.6 (k) 0.8 (c) 0.9 (d)None
Literally meaning of Skewness is fackof .

{a) Symmetry {b) Asymmmetry (c)'—t)oth (a} &(b) (d)None
Index numbers are also known as .

e

(a) Economic barometers (b} Signs and guide parts .

_(c) Both {a) and {b) (d} Neither {a} nor (b)
index numbers reveal thestateof _ -
{a) inflation {b) deilation (c) Both (a) &(b) {d)None

The crude birth rate usually lies between_ o

(a) 8 and 30 per (b} 5 and 35 per (c)2 and 32 per {d)None
thousand thousand thousand

For comparing the health conditions of two towns, Wt have ¢

calculate__ g
{a} Crude death {(h) Crude birth {c) infant  {d)None
rate rate mortality rate

Fill in the blanks with the appropriate answer: -
Algebraic sum of deviation is zero from .
The geometric mean of a set of values lies hetween arithmetic mean and

curtosis is a measureel far the froquency Girvea.
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The himits for auartile coefiicient of skewness (ie. Bowicy's oot Ol

skewness)is o

state whether the following are guestions True or false:-

Laspyre’s index formula uses the weights of Base year.

paasche’s index formula uses the weights of both current and base year.
Example of Vital events is Marciage.

Measure of Mortality is Crude birth rate.

short Questions: - {Attempt any Ten)

Which measures is the best measure? Why?

State and prove the properties of Mean.
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Show that the geometric mean of two positive values X and X5 is atways less
than or equal to the arithmetic mean when are the two means cqual?

State and prove the property of Standard deviation.

The first three moments about origin are given by

‘ (nll} po {mri(2nk1)y oy 71(nll)
by =3 2" p M3 =
S 4

data.
The share holders Research Center of Inida has conducted the survey of
three feading industrics Shares A8 and Cthe results were published as

:Fxamine the skewness of the given

Share | Average _{ Standard deviation | Current Price
A 1182 b4 136

B 225 445 o134

C 24 6 38

(a)Whlrh shares appears more stable in value?

(b)If you are holder of alf three shares which one would you like to dispose of
at present, and why?

What is the Index numbers?

State the uses of index numbers.

Does the following index number formula satisfy factor reversal tests:

‘Zpucn fklmql ’
b = m‘; X m x 100
What is the Vital Statistics?
Which measures would you recommend for
(iYComparing mortality of the population of country at different points of
time.
{ii)Comparing mortality of different segments of the population o a country
at a given paint of time
What is the crude death rate?
Long Questions: - (Attempt any four)
The following table gives the frequency distribution of marks in a class of 65
students:

Marks |0 } 2-8, 48 12 |12-14 [ 14-18 [ 1820 | 20-25 | 25&over |
ll\lo of | 10 12 18 17 5 3 |4 6
| student §  § ;77 - _ l ! i

Calcuiate (i) 03 Uppen and Q:l{ Iower} quarhles (u} Number of studems who

secured marks more than 17. (iii) Number of students who secured marks

between 10 and 15. {iv) Mode (v) Median.

Following is the distribution of marks in Stans_ggg__obtamed by 50 students.
“Marks {More than) [00 [10 [20 130 |40 l 50 |

No of students 50 146 |40 20 i 10 |3
Calculate the mode, median and mean marks. lf 60% of the students pass

this test, find theminimum marks obtained by pass candidates.
A study was conducted comparing female adolescents who suffer from
bulimia to heaithy females with similar body compositions and levels of




physical activity. listed below are measures of daily caloric intake, recorded
in kilocalories per kilogram of samples of adotescents from cach group.
| Daily calaric intake Kcal/kg) ‘

Tealthy

“Butimic
159 Fa.g \ 251 20.7

| 16.0 19.6 252 2.4
365 1215 ‘ iz L
700|216 Tla3s
\"iﬁ'ﬁ'és 229 945
w236 53
g4 1241 257
‘ §

189 a5 U o6

{i) Find the median daily caloric intake for both the bulimic adolescents and
the healthy ones. ’

{ii) which group has greater amount of variability in the measurement.
Calculate Mean, Median and Mode and also draw Stem and Leaf Plot
Haere is a set of data on showing the test scores on the last science Guiz.
56,78, 82, 82,90, 94, 93, 67,67,69, 74, 77,92, 88, 21, 83,84, 77, 72

DOC Company produces and sells four types of electric apphances. The prices
and quantities in 2009 and 2010 areshownbelow: s
12009 2010 l

_ _ 010 -
Tyee price (R} Quantty. price (Rs) | Quantity 1.
Radio 100 20 120 15 1
tomster Nago™ a0 350 q2 ]
Clock 30 |s0

El"uaar"dr\;e'r s et T T s Tl ol

Calculate the Laspyre’s price index , Paasche’s price index Fisher's ideal index
aumber and Marshall Edge worth’s Price Index number to measure the
averall changes between 2009 and 2010

state the formula for calculating Index numbers. Apply factor reversal and
Time reversal test 10 Laspyre"s, paasche’s and Fisher Index numbers.

The number of births occurring in a country in a particular year is shown,
here classified according 1o aget of mother, together with the female
poputation in each age-group of the reproductlve period.

“ge-group | Female population Jil_gnjkgs{,qihi,rt_hs_ze__rﬁq_t_bé'rg_in thmoﬂ

1519 ! 84796 .. 2389 . o
20-24 170018 . 14547 L .
| 25-29 | 72660 P LA B
V?dﬁil'ﬁ'y75924ifi_:i.; 10029 |
[ S T T . B N
L4044 V71625 1432
| 45-49 | 66660 |93 '

The totai' popuiatioﬁ of the cou?ﬁfy duﬁﬁé the yea:r- was 2285800. '
with the above dafa, determine
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{i‘the crude birth rate
{ii)the genceral fertility rate
(iiijthe age specific fertility rate
{ivithe total fertility rate.
Assuming that the sex ratio at birth was 104.6 male births to 100 female
births: determine also gross reproduction rate.
3 Calculate the crude and standardized death rates for the local population
from the following data and compare them with crude death rate of the

standard population by Direct and Indirect method. .
Age Standard Death Local Death
group  jPopulation | | Population |
010 jeoo 18 a0 16
10-20 - p1000 g5 11500 |6
20-60 - p3000 124 12400 24
e0-100 1400 o f20 0 j7o0 21
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